ax+by=c

1) HOL(a,b) = k

a) c penutcs Ha K, Toraa
aenum

6) c He genuTtca Ha k => HeT
peLleHnmn
2) HOL(a,b) = 1

HaxoaAaT YacTHble peLleHuns

(x0,y0)
x=x0 + bt
y=y0 - at, roe t -

NPON3BOJIbHOE LIES1oE

NpoBEPUM
a(x0 + bt) + b(y0 - at)=ax0 + abt +
byO - -abt=ax0+by0 =c

HO T.K. X0 , yO - yacTHOe pelLueHue,
TO

ax0+by0O=c

3amMmedaHue
x=X0 - bt
y=y0 +at, roet-
NPON3BOSIbHOE Lienoe

63x + 29y = 115
HO[(63,29)=1

63|29
-582
5

(2*29+5)x + 29y = 115
2*29x+5x + 29y = 115
29[2*x+y]+5x = 115
2*x+y=z
29z+5x = 115
29|5
25|5

4
(5*5+4)z+5x=115
S5(5z+x)+4z=115
Sz+x=t
S5t+4z=115
Z=5
t=19
5*5+x=19
x0=19-25=-6
2*(-6)+y=5
y-12=5
y0=17
x=-6-29t
y=17+63t




